ER28FEE 2H
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<INERR D> (B £1%)

iHEH B = HT BER 2HF

EEA 70. 2 71.6 72.9

EEB 53.7 56. 7 57.8

BHHA 71.7 75.9 77.6

BB 43.2 46.3 47.2
<INEREFEA D> (B1%)

FEIREEFEOEEETORS = KHT BER 2HF

HEYoL-HCIE 81.0 78. 8 79. 2

2L 70. 0 72.7 72.8

ELC L 76. 0 77. 8 78.5

BT EREE L EEOHEICEAT 5F1E 68.0 69. 4 71.1
<INEREFEB > (Bf1%)

FEIREEFEOEEETORS = HT BER 2HF

HgoL-HCIE 45. 2 49.3 51. 1

2L 49. 4 52. 0 53. 4

ELCL 66. 0 68. 1 69. 3

BT EREE L EEOHEICEAT 5F1E — — —
<INEREA D> (B12%)

FEIREEFEDEEETORS = KHT BER 2HF

HEtE 73.6 78.2 80. 5

£ LHIE 77.6 77.3 77.0

fi2 71.8 76.3 78.8

HER% 63. 2 67.8 68. 5
<INEREHB > (B12%)

FEIREEFEDEEETORS = KHT BER 2HF

HEtE 39. 7 43.2 44. 4

B LAE 42.8 43.7 43.7

2 33.3 36. 1 36. 3

HEBR 39. 5 41.8 42.9




<HER > (B £1%)

inEH B = HT BER 2HF

EEA 76. 3 74.9 75.6

EEB 66. 3 65. 6 66. 5

BFA 63. 4 60. 3 62. 2

¥¥B 45. 2 43.2 44.1
<HEREFEA D> (B1%)

FEIREEFEDEEETORS = HT BER 2HF

HgoL R 78. 7 77. 4 78.9

= R 76. 5 72.5 73.7

ELC L 79. 6 77.7 78.6

BT EREE L EEOHEICEAT 5F1E 74. 3 73.7 73.9
<HEREFEB > (B %)

FEIREEFEOEEETORS = KHT BER 2HF

HEdoL-HCIE — — —

= R 56. 6 57.0 58. 3

EHCoL 66. 3 65. 6 66. 5

BT ERE L L EEOHEICEAT 5F1E — — —
<HERBFEAD> (BA1%)

FEIREEFEOEEETORS = HT BER 2HF

HeH 65. 4 64. 3 65. 9

i 71.2 65. 4 67. 1

B % 51.5 49. 4 52. 0

R 0ER 57.5 54.5 56. 5
<HERHFEB> (B %)

FEIREEFEDEEETORS = KHT BER 2HF

He= 52. 3 50. 5 51.5

fi2 34. 1 34. 4 33.3

B % 41.0 39.9 41. 4

R 0ER 45.8 38. 4 39. 3
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B M =ER = HT BER e ES
1 BAERZRERATL S, 93.7 96. 5 95.5
2 FROEFY ZFo TS, 94. 4 94.9 91.5
3 RTEHATIHEZILTTHMELTLS, 63. 4 69. 2 62. 2
4 RTERDEEZLTWLS, 95.6 98.0 97.0
5 EFEOMEILIFET, 5b.1 58.1 58.3
6 %;ﬁgfigi%gf:: ElE. k. #= 89. 7 90. 7 89. 9
7T BEROMRITIFET, 5b.6 64.9 66. 0
3%%2%?@%?%?:&@“ﬁ¥“ﬁﬁ 88. 1 90. 9 89.9
o BEMEOREMNGLAL LN EEA | se5 | m.6 | 852
o BEBMORESEULAL L. HHA | 54 | 841 | 863
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B M EIB = CHET BER £F
1 EHEBZBNTLS, 97.0 94. 1 93. 3
2 EROMAUZESTFH->TLVS, 97.5 95.7 94.7
3 RTCHY THEEZMITTHMELTLS, 57.8 52.3 48. 4
4 RTERDBEEZ LTS, 91.2 88.1 90.1
5 EEDOMEIFIFET, 72.8 58. 8 59. 8
EEDIEETEE LI LXK, k., &
6 CHf b X2 BT>, 94.1 87.3 84.6
7T BFEOMBIIIFEL, 58.2 54.2 56.0
HFEDERETFE L2, FEk, #tE
8 [CHf b =BT, 81.6 73.3 71.5
PROBEBRBLNC, LB (A~2ER) .
1TE%Y EN SO, #MRET 50,
9 (BTOMBEMOCRERM-HHL-oTLS 1.3 6.4 5.5
EEtESD)
X 2 LA EEELEES
TEAVLARALG EERARADRIZ, 18
LY ENLCHUVDOFRE., fgEd 5h,
10 (B TOMREBORELEICHb>TLVS 2.1 12.6 11.0
EEtESD)
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